
2 Hotjsk wehave

IT aiita.pt g
I i 制

where osit tf jlaijttadsj.utptpiyaseachaisp
ii.in

If anpkitan.pt it g
So vin ⼆点制 by definitionof vin

k
ㄛ anpkitan.pt t gFl
an ft 1 Gif D a

q ⺾ a a

Fikqf aft _ad lantan t tad

F.ln.fi



3 ByProblem 2 a b In
ya t Vz b E Vz n

a S.cdtb Szchsn S.cn
atb nssz.ca S24 S2⻔

So it suffices to show RHS E It in 1 2login
Write n not am t tiny witheach ni lo B Mio

loganE Ik It⻔ 1 2login I 2k
Also Sin not rut try a i 12⻔ as Mio
And a 叫⼼ ⼆ a ban

Said Sacha bi as eachcoefficient is o or 1

S2 a S2 b S2 n H 12 1 1 212 1
which is as desired ⼝



4 Inducton
n.cnn 1 the assertion is trivial
2 Suppose HmEh __ n m 品 llcmlli.nl
For ntl if mom then

m 州 灬 1 lcmu.in
Assume men now Have

㑎 品 品
Byinductivehypothesis

m 别 ⼼⻔倒 llcmn.in
m Ht m nlillcmll.in

Apparently 品 llcmci.in by hypothesis again
m 㓵 m 品 ⼼⻔ 品 品
divides la l

So we completethe induction ⼝






